
www.cydonia-bicycles.com

INDUSTRIAL METAL ARTWORKS Martyr DH

2,5 0,4
45,7 0 0
50 1 0

50,8 1 2
52,5 2 0
55 3 0

SAINT FC M810-1 50,4 (2sd chainring) 1 1
SAINT FC M810-2 56,2 (1st chainring) 3 3

45,7 - -
50 - -

50,8 0 2
52,5 1 0
55 2 0

57,5 3 0
SAINT FC M810-1 50,4 (2sd chainring) 0 1
SAINT FC M810-2 56,2 (1st chainring) 2 3

57,5 1 0
58,3 1 2
60 2 0

SAINT FC M815-1 57,9 (2sd chainring) 1 1
SAINT FC M815-2 63,7 (1st chainring) 3 3

Washers quantity
ChainlineBB Lenght

68

73

83

A

B

1 2 3 4

5 6 7

A A

MINI MAXI

ENGLISH

Installation

1. Interpose the spacers number required between
chainguide and frame. Then tighten the 3 screws to 6 Nm.

2. Unscrew the M5 screw from the upper guide screw and
the M4 screw from the lower guide in order to rotate the
flanges.

3. Mount the crankset following the manufacturer
instructions

4. Attach flanges by tightening the M5 and M4 screws
from Step 2.

5. Place the chain and adjust the upper guide and the
lower pulley depending on the size of the chainring.
Orient the boomerang depending on your installation.
Place the pulley as high as possible to avoid
that obstacles come explode it.

6. In maximum position, the upper guide must be near
the chain to minimize derailments.

7. Check the right alignment of chainguide by relying on
the alignment of the pulley relative to the chainring.
If necessary, remove / add spacers.

Maintenance
Periodically check the hardware for tightness.
Be careful not to over-tight the screws.
Periodically apply a few grease on threads.
Periodically inspect your chainguide, especially after a crash.
If you notice anything suspicious, go to visit your Cydonia
dealer or contact us directly on our website.

Warranty
All Cydonia chainguides are covered for 1 year from
original date of purchase against manufacturers defects
in material and workmanship.
This warranty is limited to the original purchaser.
Proof of purchase is required. The product must be
returned to the original place of purchase or directly
to us to process any warranty claim.
This warranty does not cover defects arising from misuse,
abuse, alterations, lack of preventive maintenance and 
routine maintenance of failure to install according to the
instuctions and proper procedures, as well as the products
used in competition or commercial purposes.
No compensation can be claimed as damages for any reason.
This warranty does not cover fading of colours.

FRANCAIS

Installation

1.  Intercaler le nombre d’entretoises nécessaires entre
l’anti-dérailleur et le cadre. Serrer ensuite les 3 vis à 6Nm.

2. Dévisser la vis M5 du guide supérieur ainsi que la vis
M4 du guide inférieur, afin de faire pivoter les platines.

3. Monter le pédalier en suivant les instructions du
fabricant.

4. Fixer les platines en vissant la vis M5 et la vis M4 de
l’étape 2.

5. Placer la chaine et ajuster le guide supérieur et la
roulette inférieure en fonction de la taille du plateau.
Orienter le boomerang en fonction de votre montage.
Placer la roulette aussi haute que possible afin d’éviter
que les obstacles viennent l’exploser.

6. En position maxi , le guide supérieur devra être rappro
-ché de la chaine afin de minimiser les déraillements.

7. Vérifier le bon alignement de l’anti-dérailleur en se
fiant à l’alignement de la roulette par rapport au plateau.
Si besoin, enlever/ajouter des entretoises.  

Maintenance
Vérifier périodiquement le serrage des vis.
Faites attention à ne pas trop serrer les vis.
Appliquer périodiquement un peu de graisse sur les
filetages des vis.
Inspécter périodiquement votre anti-dérailleur,
en particulier après une chutte.
Si vous constatez quelque chose de suspect,
rendez-vous chez votre revendeur Cydonia ou contactez
-nous directement sur notre site internet.

Garantie
Tous les anti-dérailleurs Cydonia sont garanties 1 an à
partir de la date d’achat contre les défauts de fabrication
et de matériaux.
Cette garantie est limitée au premier acheteur.
Une preuve d’achat est nécessaire. Le produit doit être
retourné à son lieu d’achat ou directement à nous pour
traiter toute demande de garantie.
Cette garantie ne couvre pas les défauts résultants d’un
usage impropre ou abusif, d’une modification, d’un
manque d’entretien préventif ou d’entretien courant ou
du non-respect des instructions de montages et des
procédures appropriées, de même que les produits
utilisés en compétition ou à des fins commerciaux.
Aucune indemnité ne peut être réclamée à titre de
dommages et intérêts pour quelque raison que ce soit.
La garantie ne couvre pas la décolorisation des couleurs.


